
Trigonmetric	Equations	Quiz	Review	 	 	 	 	 Name:________________________	
Algebra	III	 	 	 	 	 	 	 	 	 5/2/18	
	
1.	Simplify	each		
	
a.	

� 

sinθ cotθ cosθ 	 	 	 	 	 b.		(1− cosθ )(1+ cosθ ) 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

c.	

� 

sinθ cscθ −
1

sec2θ
	 	 	 	 	 d.	

� 

1
cosθ

−
sin2θ
cosθ

	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



2.	Find	the	solution	set	where

� 

0 ≤θ < 2π 	(4	points	each)	
	

a.	

� 

sinθ =
1
2
	 	 	 	 	 	 b.	

� 

cosθ = −
3
2
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
c.	

� 

2cosθ + 3 = 4 	 	 	 	 	 d.	

� 

2cos2θ − 3cosθ = 0	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



3.	Find	the	solution	set	where	

� 

0° ≤θ < 360°	(4	points	each)	
	

a.	

� 

tanθ =1	 	 	 	 	 	 b.	

� 

sinθ = −
2
2
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
c.	

� 

sec2θ − secθ = 2	 	 	 	 	 d.	

� 

2sinθ +1 = sinθ 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Bonus.	(4	points	each)	
1. Simplify	

	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

2. Find	the	solution	set	where	

� 

0 ≤θ < 2π 	
	

� 

cos2θ =1+ sinθ 	

� 

1
1 −sinθ

+
1

1 + sinθ


